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(H26) 26. 6 32.6 2
3 . . 1.3 89.0 98. 6 57.7 88.0 1.9 SSW 20.0 37.0 | 336.5
9 23.8 31.9 15.7 89. 2 98.6 47.5 89.3 1.0 W 13.0 17.0  219.0
10 20. 2 29. 4 9.6 81.8 98.6 42.4 82.0 1.7 NNW 27.2 28.5 1 106.5
11 14. 4 23.7 3.0 86. 0 98. 8 29.4 85.1 1.0 NNW 14.9 21.0 | 141.0
12 7.2 18.7 -2.6 85.5 99.1 29. 4 86.0 1.4 NNW 18.7 12.5 156.5
(H27)
1 7.5 17.1 -2.1 82.1 98. 8 27.4 82.1 1.5 NNW 21.3 4.5 90.0
2 7.1 18.0 -2.0 81.3 98. 8 39.4 81.0 1.4 NNW 17.1 10.0  109.5
3 11.0 24.7 -0.9 81.9 98. 8 21.6 81.4 1.4 NNW 15.5 10.5 98.0
4 17.2 26. 2 6.9 85.7 99.1 24. 4 85.9 1.6 W 17.5 17.5 179.5
5 19.7 30.8 10.5 87.6 99.1 28.8 86. 8 1.3 W 14.7 16.0 126.5
6 21.8 29.2 15.3 95.5 99. 4 53.8 94. 8 1.3 ENE 17.7 27.5 1 893.0
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